W—B /

HA TS &AJ.%;
EEIGER

[BHBHREOR L JIZMITT -




( 50 )




ST PR S, B -
. e ;e

B T AR5

-

@
©

-

ZARINRBH D !
R OHBEKEZBSONEDZ ENTE B,
TEENKYZVER2 0 T L, THHE L,
(Higk CT—HRAYICEL Y M Te G A1k, ECR AR & OMEE)
HETHHREZEZTHZENTEET, )

B L ESLL
HIEDEF .
mEDKLES,




o0 000




RKZAE-I

-







4.0

0 O I == 2




L EVE A

($100mm)  (dsomm)  [Lndde= |

100~ 150mm

7 Y=k 47
WAMIcLSMa  SP @ 50mm













(mm)

28
28
6/21 | 6/22 | 6/23 6/24 6/25 6/26 6/27 6/28
85 0] 445 415 76.5 16.5 0)







- v L
see s




(cm)
2

/m 6 28 7 30

14.3 242 883

14.6 243 831

100
cm /m? /m? /m

303 60.8 144 44 255 524 461 63 120
306 535 144 43 244 548 477 71 123




/m /m /m /m
392 141 109 29 20.7
365 136 102 32 239




(EX)-=p =

a0} s 1 0 & Bmm)
I I : —10cm
50 50 —20cm
ISR AT S e S
i i 1 = — a0
40 _\-‘\"‘\\J = | '\‘K.L‘ L _5[:'22
L ;
30 - 30
L g ‘
J\\ £
20 ' 20 £
\I\\]N N 2
i
10 10
I:I T T T T T T T T T T I:'
N S S S-S R
"\/3) {'{’b fﬁ"‘,b %/?‘ \'-76'?- cﬁ{? ﬁ,ﬁib \‘5&' {ﬁfq’ 1.,::*/O&N :\6{00 Qf

Bl FZ —/ A —FL 1O EKEEFS Bl Tk a DAL

50mm






mm) min

fER 12 A Elmm

1000

100

10

— — —— D=09t 086
------- O=3.4t70.1 5
D=2 .0t 0.1 1

FEBEFRIminy "




EE{ZAEimm

1000

100

10

————D=1 1t 026

— D=0.8t" 026

O=1.0t" 021

10

100
$E1BAF R ming




Kostiakov

n
09 0.86
34 0.16
20 011
11 0.26
10 0.21
0.8 0.26
0o
© e




3.00

1.93

147

0.70

3.00

2.13

147

057







1.8

18 18
041 045 091
042 0.62 0.67

1.8




DOKBHEDAIRETT
QEYIDREN R ELET

O TRKUZERIEDICLT, |

BINNTEETT

DIERMOERD SHREDBIKDAITETDCENS

BEENERICBRDET

[BRBEREDR L

DEIR




